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QUESTION 1

If Ted runs at 8 miles an hour, which computation would you use to determine how far Ted runs in 15 minutes?
A.8x15

B.8x 25

C.8x0.15

D.8x0.25

E.8x25

Correct Answer: D

Explanation: Fifteen minutes is a quarter-hour, which is equivalent to the decimal 0.25.

QUESTION 2
8.26 x 76.8 =

A. 6343.68

B. 63.4368

C. 634.368

D. 634,368

E. 6.34368
Correct Answer: C

Explanation: Remember that since the terms of the problem have three units to the right of the decimal point, the
answer will as well.

QUESTION 3

Don gets paid $9 an hour, but if he works more than 30 hours in a week his rate of pay is increased by %. How much
would Don get paid for a 38-hour work week?

A. $342
B. $390
C. $367
D. $378

E. $365
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Correct Answer: D

Explanation: The problem can be solved with the following expression: 30 (9) + 8 (9 x 1.5)

QUESTION 4

What is the volume of a rectangular solid that is 8 inches long, 6 inches wide, and 4 inches tall?
A. 192 cubic inches

B. 184 cubic inches

C. 194 square inches

D. 192 square inches

E. 194 cubic inches

Correct Answer: A

Explanation: Volume is found by multiplying length, width, and height.

QUESTION 5

Rex is four times as old as Ted. If the sum of their ages is 30, how old is Ted?
A.5

B. 8

C.10

D.6

E. 12

Correct Answer: D

Explanation: The ratio of Rex\\'s age to Ted\\'s age is 4:1; the sum of their ages can be divided by the total number of
units in this ratio, 5. This indicates that Rex is 24 and Ted is 6.
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